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Q.1. A garden 100m long and S50m wide has a road 3m wide all around the

| 4th Month, 1st Week, 5th Day |

¥ Answer the following questions:

garden. Find the cost of paving the road at the rate of Rs. 250 per m2.
(1x5=5)
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Q.2. In a square garden having each side of 25m, two paths 6m wide cross

each other at right angle at the middle. Find the total area of the paths.
(1x5=5)
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Q.1. A garden 100m long and 50m wide has a road 3m wide all around the

| 4th Month, 1st Week, 5th Day |

¥ Answer the following questions:

garden. Find the cost of paving the road at the rate of Rs. 250 per m2.
(1x5=5)
2P A Noe 25 23 T2 S SnL e 2508155 2100808 ALl
3250 3 FL LA 1 Iy S
Q.2. In a square garden having each side of 25m, two paths 6m wide cross

each other at right angle at the middle. Find the total area of the paths.
(1x5=5)

Z90° % uy/;JL/»..{LJ,;}-: 6 = ZSJLJ d/éj;f_ JCL Ve, L
LS S s

1
| Time: 10 Minutes | Paper Math 6 (T-1) |  Total Marks: 10 |

| 4th Month, 1st Week, 5th Day | Exercise 8.1 Q # (11, 12) |
ST IS 5 )

Q.1. A garden 100m long and 50m wide has a road 3m wide all around the

W Answer the following questions:

garden. Find the cost of paving the road at the rate of Rs. 250 per m?.
(1x5=5)
2P af e 25 23 T2 S SnL L 2508135210008 At
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Q.2. In a square garden having each side of 25m, two paths 6m wide cross

each other at right angle at the middle. Find the total area of the paths.
(1x5=5)
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Q.1. A garden 100m long and 50m wide has a road 3m wide all around the

W Answer the following questions:

garden. Find the cost of paving the road at the rate of Rs. 250 per m?.
(1x5=5)
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Q.2. In a square garden having each side of 25m, two paths 6m wide cross

each other at right angle at the middle. Find the total area of the paths.
(1x5=5)
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